






Huvudsnittsstyrkor och glasögonrecept: 

Ex1) F90=+2,00 D, F180=-1,00 D motsvarar glasögonreceptet: +2,00 D/-3,00 D x 90  

Ex2) F25=-1,50 D, F115=-1,00 D motsvarar glasögonreceptet: -1,00 D/-0,50 D x 115 

Ex3) F50=+6,50 D, F140=+8,50 D motsvarar glasögonreceptet: +8,50 D/-2,00 D x 140 

Ex4) F25=-3,00 D, F115=+0,50 D motsvarar glasögonreceptet: +0,50 D/-3,50 D x 115 

Ex5) F90=+2,00 D, F180=±0,00 D motsvarar glasögonreceptet: +2,00 D/-2,00 D x 90  

Ex6) F10=-0,75 D, F100=±0,00 D motsvarar glasögonreceptet: ±0,00 D/-0,75 D x 100  

 

 

 




